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Adet RMS (ppm)
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lagr_asym_us_avg (ppb) 1D pull distribution

[ X2 / ndf 4316 / 51 I M -0.001526 + 0.1263
2000 :— po —474.8+130.1 14-_ ] Std D 09111+ 0.08934
100 __ : Underflow 0

= 121~ Overflow 0

: ’ ] ’ l | -

of— I 2 [ ndf 4.83816

1 I { N l ] I ] ] ‘ | . N 10 B X

- H 1

-0.1048 + 0.1561

1000 1 l * l ] l l ) l 1 l 1 l l l N ‘ : ;::tant 10.24 +1.86

Sigma 0.9963 + 0.1201
2000 i
3000 6:—
SNEREENERERENNNRRERNNNENIRNUNURENENNUNURENENNNEN] G
L

O-Illllll |||||||||| |II|III
8 6 4 =2 0 2 4 6 8




lagr_asym_us_avg RMS (ppm)
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lagr_asym_us_dd RMS (ppm)
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lagr_asym_usr RMS (ppm)
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lagr_asym_usl RMS (ppm)
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